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4325-A
M.A. (Previous) Examination, 2017

ECONOMICS
Paper—V(A)
(Labour Economics)

Time : Three Hours
Maximum Marks : 100

PART - A (EUg-37) [Marks : 20
Answer all questions {50 words each).
All questions carry equal marks.
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PART - B (@us-9) [Marks : 50
Answer five questions (250 words each).

Selecting one from each unit. All questions carry equal marks.

oI THE W Ueh-Uah WA T4 g4, Tl Ui 99 Fifem
T W9 W SR 250 TRl | I 7 21
T T % 3Tk quE E |
PART - C (7308-R) [Marks : 30
Answer any fivo questons (300 words each).
All questions carry equal marks.
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PART - A
(guE-37)

1. Answer the following questions :

1wl & 3w e
UNIT - I
(z%E-1)

{a) Define iabour cconomics,
(b)  What is mobility of tabour.
g9 & Niaeier ¥ 0 and §72
UNIT - II
(z@E-11)
(e ) Explain the coneept of poverty.
fadae =7 s & g witan
o What 15 meant by placement ©
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UNIT - 111
(geRTE-1I )
{e¢)  Whatis minimum wage ?
=IO TG H O A B2
(f)  Whatis meant bv Bonus ?
A | qTd 77
UNIT - IV
(F*TE-1V )
(e ) Explain the concept of industrial refations.
(h) Whatis collective bargaining 7
amfes Saarst #=4 § 7
UNIT -V
(FHE-V)
(i) Whatis social security ?
TSR A | 9 e 87
(j) Whatisexit policy 7

frarrg Hifa & 7 aread &2
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PART - B
(Ewvs-7q)
UNIT - I
(gE-1)

2. Describe the scope and importance of lzbour economics in
the present economic scenerio. 59
aﬁnmaﬁﬁmvﬁgwﬁwa@mm%ﬂa%ﬁmf

3. What do you mean by supply of labour ? What factors affect
it ? Explain. 4.6

Wﬁgﬁéwaﬁqﬁ%?ﬁwﬁawﬁmﬁmaﬁqﬁ

€7 TRy
UNIT - II
(3%Te-11)
4. Define unemployment. How is it measured in India ? 1.6

AT F it Fm ) v T 38 H9 wr d¥7
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Critically examine the latest emplovinent policies of

government of India. 10
R REHW, %] FEH95 To0R ShE AT Tare Fifsm |
UNIT - 111

(TFTE-II1)

Critically analyse the role of wage boards in India. 10
9T H =gl A =1 2ifew w1 AR i #f
Give reasons for labour exploitation and wage differentials.

Also suggest measures to remove them. 7.3
%ﬁmamw@méﬁmmaaﬁgw%
I it SfFu)

UNIT - IV

(gTE-1v)

What are the causes of industrial disputes ? Suggest how they

can be settled 2 6,4

s fams N B B 27 T TOH & 20 S
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9. Critically analyse the role of workers participation in
management for healthy industrial relations. 10

=Ry e gl o fau weey § oafawl # aried

I ] AT [T9edT S |
UNIT -V
(ZHTE-V)
10. What is the need of social security for labour ? Also distinguish
between social security, social assistance and social insurance.
4222
T 1 AT YU o1 AEwEHAl 4 i 67 W € Arfen
TR, T R Herdan 991 Wnanfees &im § o 9aEe
11. What do you mean by labour welfare ? Describe the labour
welfare works done by the emplover. 4.6
F FEA0 H SR F aead 82 Fraree g fRd S A 9 g9

FHodT THIE it faa=H i |
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PART - C

(Eve-47)

UNIT -1

(grg-1)
Define labour market. What arc its characteristics 2 How is
it different from commodity market ? Explain. 4.6.3
Fig T A fRE vER faw 37 Twamny

UNIT - 11

(SFTE-11)

Explain the concept of personnel management. Also explain

methods ef recruitment, 5.10
Al wary 1 AweE 9 o9 # fafue =) Wi faa=n =ife
UNIT - 111

(gerTE-111 )

Detine wage and eritically analyse the modern theory of wage
determination, 310

T 9 FAT A wegh v sy g

R R A e (ETU"
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15.

<2

UNIT -1V
(TFE-1IV)

Exaniine the major Indian labour laws in rclation to

th

international labour stnadards. !
T A TH S @ STUET # S h R W TEem
HITTT

UNIT -V

(3=TE-V )

. What are the special problems of labour ? What policy

measures have been taken by the government to remove
chem? i M

R CTE T R H G/ TR G TS & I HTE
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